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Date: 10" February, 2019 Duration: 120 Minutes

Please read the instructions carefully before you start Answering.

1. Write Name, Registration No. and Roll No. on the question Booklet. (Roll No. and Registration No. as

sent by email in PRL’s call letter)

2. The question booklet contains 20 pages including rough sheets, which comprises of 50 nos. of multiple-
choice objective questions.

3. Before filling the OMR sheet, read carefully and follow the instructions contained in OMR sheet and as
sent to you, failing which your OMR sheet evaluation is liable to be cancelled. Therefore, candidates are
advised to take utmost care to fill the OMR sheet.

4. All the required care is taken while translating the questions in Hindi. However, candidates are advised to
refer the corresponding English version in case of any doubt. English version will prevail for all such

situations.

5. How to fill Roll Number :-

o If your Roll Number is of 1 digit put 3 ‘0’ (zeros) as prefix. e.g. if your Roll Number is 1 then you need
to encircle “0001” .

e Two digits than put 2 ‘0’ (zeros) as prefix. e.g. if your Roll Number is 14 then you need to encircle
“0014”.

e Three digits than put 1 ‘0’ (zeros) as prefix. e.g. if your Roll Number is 145 then you need to encircle
“0145”.

6. How to fill Registration Number:-
Last four digits of your Registration Number be written and encircled. e.g .if your registration no .is
18SP00123 then you need to encircle “0123”.

7. The written test will be of duration of 120 minutes. The questions will be multiple choice objective type
and in bilingual (i.e. Hindi & English).

8. Each Correct answer will carry 2 marks and each wrong answer will carry minus 0.5 mark. No marks for
un-attempted questions.

9. After the examination, the candidate should handover the call letter, Hall ticket, question booklet and OMR
answer sheet to the invigilator/ PRL Supervisor.

10.0ne set of self-attested documents as mentioned in the call letter (point no. 2 and 3 of para Il) be handed
over to the invigilator/ PRL Supervisor.

11.SC/ST candidates are advised to submit duly filled in TA form along with all supporting documents as
mentioned in TA form to TA Desk at examination center.

12.0nly scientific calculator is allowed. OMR needs to be filled using BLACK ballpoint pen ONLY. No
other gadgets/ electronic gadgets will be allowed.
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1. Fr U 71T welmre & Aafof@a & @ =9 ar o <A™ S @ &2
Entry

I

Statements

v
>

Exit

(@) do while loop (b) for loop

(c) while loop (d) witch case

2. AT & @ Fiaar UPS RRasd heereT #T FEd 3TST Ul T g,

a) UG oYX TAECH Sl TR &THAT Y TGIT ©

b) TE WA H Iy FHI T &

) I YR e HI TAUfT #F dH3T IR Tl AT &
d) 3RFd § T HIS g1

(
(
(
(

3. Std @IS AWM I Acash HATUA I I SO ITANTRASNT & fAT eTdersts

oIl T FATH fRaT 1T &, aF I8 3eH Y --ooee HET ST &
(a) Fearaer 3 @fdw 3¢ (b) Ter Jq5 3ch
(c) FRgax fpfReT 3t (d) AR e+

4. IFEARAT (3rEAHICH) Tiosheeld & HATHel H, hIAAT FUT T g7

(a) Tlesheerst 3R f3fhcers 919w & AT v & ol (B1) &1 39T fovam e Bl
(b) Taffier SiSat o1 3uleT visheers 3R e ishar & fow faar ST g
(c) TiesheereT 3R TSfheera ufhar & foIw &I ol 3Taeges = g

(d) 39gFT & @ g ¢

5. eafaf@a & & Hi9dar 31¢s ALY §, 9o TFOTAISe el & [olU HdcaaMel Jarw
F Wil T 9T -

(a) Fearaer 3% @fdw (b) NE THiAT
(c) A AT ATt (d) S =i
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1. Which of the following logic is being illustrated in the flowchart given below?

Entry
l‘ A
Statements
Exit
(a) do while loop (b) for loop
(c) while loop (d) switch case

2. Which of the following best describes UPS device function,

(a
(b

(c) It provides backup power in the event of a power cut

) Itincreased the storage capacity of a computer system
)

It increases the process speed

(d) None of the above

3. When an attempt is to make a machine or network resource unavailable to its intended
users, the attack is called

(a) denial-of-service attack (b) slow read attack

(c) spear phishing attack (d) vishing attack

4. In case of asymmetric encryption, which statement is true?

(a) Same key is used for encryption and decryption process.
(b) Different keys are used encryption and decryption process.
(c) No key is required for encryption and decryption process.

(d) None of the above mentioned.

5. Which one of the following is not an attack, but a search for vulnerable services to exploit?
(a) denial of service (b) port scanning

(c) memory access violation (d) dumpster diving
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6. HoUET Aeafhar & 0S| Hiser &, gEAIE AR AN TeT foie Qe & A herelh AW
gIdr 87

(a) Tpfsisher (b) FeaF

(c) 3regoraT (d) FereT

7. C AT H AATIT@d 7 & fohd g &1 39T o0 & MY, o H o5 3R
TrRATHT @ 3768 (abandon ) =T & T foham ST &2

(@) do (b) continue

(c) goto (d) break

8. 3T ¥ el 3T 39 T 3T & ger & foIv fFg SQL Fa8 Tede &l 39T
fhar STar 82

(a) fopue caa (b) 3ifeeX caa

(c) 317 eael (d) 3WRIeFT H & HI$ AEH

9. Acafhdl H FISHITTCIT T HTIRT FIT ATAYRT g2

a) DT AdAT Hhdel ol AAT AMT & T & v Yhe FI TfHT e g

b) SHHT AT Teh Yahe HT Fo FAMeAT H TR Hter ¢ |

C) TP AT Ueh Uohe I fGU 31T Acash & T AN & fow wfFer @ § |
d) 3RFT H & Pl g1 |

(
(
(
(

10. 3c9hIfaish (Ephemeral) 9 &1 faflse & Far &2
() 1@ 80 (b) 1 & 1024
(c) 80 & 8080 (d) 1024 & 65535

11. AT @a I” RAID [3aamd ATRA=E W IR |
(1) RAID 0 (2) RAID 1 (3) RAID 3 (4) RAID 5
T grs f3&h & ofd & qadl #d AR = & & Fasd carT f&ar S §

(a) 3WFd Shaol (1) (b) 3URFT hadl (2)
(c) 3WeFa (3) 3R (4) a=r (d) 3UAFT hael (4)

12. T=faf@a & & 5T FATS &1 3YINT foo A HT ST & HIS FI TGl
744 geuadt (recursively) &1 H el & fow fhar Smem 2
(@) chmod —d 744 foo (b) chmod -R 744 foo
(c) chmod -r 744 foo (d) chmod -D 744 foo

@ Physical Research Laboratory Page 6 of 20



6. In OSI model of computer networking, which layer lies between transport layer and data link

layer?
(a) Physical (b) Network
(c) Application (d) Session

7. Which of the following keyword in C language is used within loops to abandon processing and
leave the loop?

(a) do (b) continue
(c) goto (d) break

8. Which SQL query statement is used to remove a table and all its data from the database?
(a) Create table (b) Alter table

(c) Drop table (d) None of above

9. What do you mean by broadcasting in Networking?

(a
(b

(c) It means addressing a packet to all machines in given network.

) It means addressing a packet to a particular machine only.
)

It means addressing a packet to some machines.
(d) None of above.

10. What is the typical range of Ephemeral ports?

(a) 1to 80 (b) 1to 1024
(c) 80 to 8080 (d) 1024 to 65535

11. Consider the following four RAID configuration operations.

(1) RAIDO (2) RAID1  (3) RAID3  (4) RAIDS
The operation of mirroring the image of one hard disk to another is done by

(a) Only (1) above (b) Only (2) above
(c) Both (3) and (4) above (d) Only (4) above

12. Which of the following command will be used to change the mod of the directory named foo
recursively to 744?

(a) chmod —d 744 foo (b) chmod -R 744 foo
(c) chmod -r 744 foo (d) chmod -D 744 foo
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13 ThIT T 3M3CYE \n & AT HET C AT FT YT HlAAT 82
(@) printf("\n"); (b) printf("\n");
(c) printf("\\n"); (d) printf("Vn");

14. Sy e erearael H, U farell focH fordsh ST §

(a) 1000 fec& (b) 1028 facH
(c) 1022 fecH (d) 1024 focH

15, faeist & o, 3T Y9 N, BEF 37 & 88 & o 99 & [, a9y arer
THAIH! FEd ©

(a) 3Fh A (b) ik TBH

(c) 3 ersH (d) @eFex eI3H

16. & faw 91w g ETde FT 313 FAT FEM?
#include<stdio.h>

int main( )

{
inti;
for(i=1;i<=10;i++);
printf("%d",++i);
return O;

}

(@) 11 (b) 12
(c) 246810 (d) 12345678910

17. HogeX Siedfehat H T HATS HT YL F4AT g2
(a) Sicasd W T3a18H HT IUTSUAT FH YAGTOT HTAT
(b) &3 f3%F Wiec I IAETOT FHLAT

(C) UTelheled H §T T GLIETOT el

(d) foex & e Ioraedr &1 &I HIT

18. DHCP ®dX 31 el Tl Fellsc ol Ualel &L gl
(a) JIcTprer (b) IP T3
(c) MAC TgH (d) greeaH
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13. Which is a correct C language statement to output \n on the screen?

(@) printf("\n"); (b) printf("\\\n");
(c) printf("\\n"); (d) printf("\/n");

14. In computer science terminology, One kilo bits is equal to

(@) 1000 bits (b) 1028 bits
(€) 1022 bits (d) 1024 bits

15. The time for the disk arm to move the heads to the cylinder containing the desired sector is

called
(a) Disk time (b) Seek time
(c) Arm time (d) Sector time

16. What will be the output of the code snippet given below?

#include<stdio.h>

int main( )

{
inti;
for(i=1;i<=10;i++);

printf("%d",++i);

return O;
}
(a) 11 (b) 12
(c) 246810 (d) 12345678910

17. In computer networking what is the use of ping command?

(a) To test a device on the network is reachable
(b) To test a hard disk fault

(c
(d

) To test a bug in application

) To test a printer’s print quality

18. The DHCP server provides to the requesting client.
(a) Protocol (b) IP address

(c) MAC address (d) Hostname
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19. gsa3fA faaroil (background details) @I TSl U =TT, hael 3Tavash Hrad &
gyfafaf®ca = arell &7 Fgelldl & |

(a) 3T gIBfsar (b) SeT TATHRIET

OECARECHE (d) 343 & FI5 Gl

20. 213.23.48.37° Logical AND “255.255.255.240> &1 fasarfed &y aRome &1 ghem?
(a) 213.23.48.240 (b) 213.22.48.37

(c) 213.23.48.32 (d) 213.23.48.30

21. C++H SId T dlSes Folld U T 310+ Ne Farqg & 8707 UIed Hdr g, ar 59
dRATshH el STl &l

22. C++ A I 9 FATH higaed H IRIAH fCU T 8, a9 FcUeet (derived)

FoTH & IH HECFCY B 3R W FAH FECFT B HNEHACH I8 FHLAT gl
(a) dFhfeus (b) 3faard

(c) FUBeR f3use (d) =X

23. C ++ EInfHeT HT H AT (Fofaa) g

(a) EFcUeet (derived) ST YR (b) 3UTRTRAT IRTNT 3T THhR

(c) 3afafga 31 AR (d) 3T T

24. P N ol YASIAT ___ o ATEIH A C -+ NanfHAIT $91 H 1o v ST Fehell
gl

(a) Sg&IAr (b) TARTHeINT

(c)s;l?ﬁ'é?f (d) a 3 ¢ =T e

25. Teh sAisoterd 3 KHz deter af fAesTal TRi & A1Y Ueh [&eatal SR & &l
3TRAH 3T &3 AT g7

(a) 30 Kbps (b) 6 Kbps

(c) 3 Kbps (d) 60 Kbps

26. dTg=i T &l AR 7 A fhad qufiep fohar ST @eher g2
(2) T B Tl (b) RBamss 3R Fe
(c) A3 TemReA (d) SRS FramfAeT
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19. refers to the act of representing only essential features without including the
background details.

(a) Data Hiding (b) Data Encapsulation
(c) Data Abstraction (d) None of these

20. Perform ‘213.23.48.37’ Logical AND ‘255.255.255.240’ what will be the result?
(a) 213.23.48.240 (b) 213.22.48.37
(c) 213.23.48.32 (d) 213.23.48.30

21. When a child class inherits traits from more than one parent class in C++, it is called

inheritance.
(a) Hierarchical (b) Hybrid
(c) Multilevel (d) Multiple
22. In C++ if base class has constructor with arguments, then it is for the

derived class to have constructor and pass the arguments to base class constructor.
(a) Optional (b) Mandatory
(c) Compiler dependent (d) Error

23. Classes in C++ programming language are
(a) Derived data types (b) User defined data types
(c) Built-in data types (d) All of the above

24. Reusability of the code can be achieved in C++ programming language through
(a) Polymorphism (b) Encapsulation

(c) Inheritance (d) Both a and c options

25. A noiseless 3 KHz Channel transmits a signal with two signal levels. What is the maximum

data rate?
(a) 30 Kbps (b) 6 Kbps
(c) 3 Kbps (d) 60 Kbps

26. Binary Search can be categorized into which of the following?
(a) Brute Force technique (b) Divide and conquer

(c) Greedy algorithm (d) Dynamic programming
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27. ) U 91T @3 EA9e FT 3M3cqe AT gEm?

#include<stdio.h>

int main( )
{
char ch='G';
switch(ch)
{
case 'R":
printf("RED");
case 'G':
printf("GREEN");
case 'B':
printf("BLUE");
break;
}
return O;
}
(a) GREEN (b) GREENREDGREENBLUE
(c) REDGREENBLUE (d) GREENBLUE

28. ST # &fcdel & IR # Ae=afaf@a & ¥ silaavsiaad g g/&8?

(1) HECFET FT ATH FAH & oATH & AT BlelT AR
(2) IfE 3T T Ford & T FeEcae FF IRAVA 78 o &, ar Biee
PRIARCT Ued FEgFeT FUBR SaRT FFdIfeld ¥ & do1 ST gl
(3) fewhice shEcareX FU() I il FaT § AR 0, NULL S8 f8lec deg &
T @eft seca aRuaew I sARTeSs AT gl
4) I g e Farg HecFel F Hid died g, df 30 HEcdeld $HI ggel
ST H it fohar ST afgu|
(a) Shael 1 (b) haer 1 3R 2
(c) ae 1,2 3R 3 (d) gsfr 1,2,3 3R 4

29. SIS {Y ToaliReA #, IfE Th S9e W = {2, 5, 7,99, 899); key = 899 feAT e
g, o eRigicd @ T & &7

(a) 5 (b) 2

(c) 3 (d) 4
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27. What will be the output of the code snippet given below?
#include<stdio.h>

int main( )
{
char ch='G';
switch(ch)
{
case 'R':
printf("RED");
case 'G':
printf("GREEN");
case 'B':
printf("BLUE");
break;
}
return O;
}
(a) GREEN (b) GREENREDGREENBLUE
(c) REDGREENBLUE (d) GREENBLUE

28. Which of the following is/are true about constructors in Java?

1) Constructor name should be same as class name.

2) If you don't define a constructor for a class, a default parameter less constructor is
automatically created by the compiler.

3) The default constructor calls super () and initializes all instance variables to default
value like O, NULL.

4) If we want to call parent class constructor, it must be called in first line of constructor.

(a) only 1 (b) only 1 and 2
(c) only1,2and3 (d) All1,2,3and4

29. In Binary search algorithm, if given an input array = {2, 5, 7, 99, 899}; key = 899; what is the

level of recursion?

(@) 5 (b) 2
(c) 3 (d) 4
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30. folepferee & Yde #Als A A ar Hies AT §1 Tk Hles SeT HAGT el &
foT 31 Hres % CRIAY res iaar %’?

(a) TS T FX (b) S € &R

(c) TEeT T A5 (d) s

31. AT NTAT 3TIEBYT §EoR (int) 4bytes FT &, dl intarr [15] T BT d18¢H
T BT |

(a) 15 STgcH (b) 19 d15CH

(c) 11 d15EH (d) 60 STSCH

32. [Ataf@d e &hee #H, 3¢ (date) HATS fhdell IR Teldir?

foriinaib; do date; done

@20 (b) 1

(c)2 (d) 3

33. WEaR Alfccdd TOR # {de did aer g
(a) i-%zn- (b) grmlig

(c) ersc (d) ImAT

34. ot 98 0s & sl #, 39 el BIseT # FHAS & M3Ye H HA A5 Fohd
g7

(a) HATS >> FISd (b) FHAS < BB

(c) FHS << B (d) FHHS > B

35. 339C NAND AT &1 g ool H fohclall el TEIST BIM?
(a) 8 (b) 3
(c) 7 (d) 9

36. IRl @RI GAT0T Y &7 (3eTehieen) H TAMIT UgelT TURN el she Hietar
€

(a) #AT (b) GfEroT JranY

(c) feamer (d) AT

37. TF ThEsh IW gl W, gioar s & feed IR Td R 81 &
(a) oFET Y@ (b) &

(c) e Y@r (d) FHT @

@ Physical Research Laboratory Page 14 of 20



30. Inlinked list each node contain minimum of two fields. One field is data field to store the
data second field is?

(a) Pointer to character (b) Pointer to integer

(c) Pointer to node (d) Node
31. Assuming datatype integer (int) is of 4bytes, then size of int arr[15] would be

(a) 15 bytes (b) 19 bytes
(c) 11 bytes (d) 60 bytes

32. In the following shell script, how many times will the date command run?

foriinaib; do date; done

(@0 (b) 1

(c)2 (d) 3

33. Infiber optics communications the signal source is waves
(a) Radio (b) Infrared

(c) Light (d) Gamma

34. In context of Linux base OS, How can you append the output of a command to a file?
(a) command >>file (b) command < file

(c) command << file (d) command > file

35. How many case entries will be there in the truth table of 3 input NAND gate?
(a) 8 (b) 3
(c) 7 (d) 9

36. The 1°' Permanent Research Station established in South Polar Region (Antarctica) by India is
(@) Maitri (b) Dakshin Gangotri
(c) Himadri (d) Bharti

37. Days and Nights are equal throughout the globe when the Sun is above
(@) Equator (b) Poles

(c) Topic of Cancer (d) Topic of Capricorn
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38. a8 Hal, [ & ar AT 3N & & oo do S &l 8, Afher 281 7 axfarer
T F T F &SfER FAr S1ar §, Feardr &

(a) STICehISA (b) Teshiset

(c) $-hiset (d) foRcerehiget

39. 3R T P AT, FTer FT &, &Y Pl e, e, I AFIT gl AT, dl IRad
TSI & HTAR wAHE T LT &7 §?

(a) The (b) B

(c) ARET (d) =irerr

40. I 2 12 15 1 20 &1 AJAS 'BLOAT' &, dl 20 23 9 19 20 T &7 AJAS §?
(a) TWILT (b) TWINE

(c) TWINT (d) TWIST

41. T 96T H, TRET ST & fhdT T&AT #r 3/14 9aT Flel & TolT FHgl Ir=m a7
A A, 3HA 3H AR H 3/4 gar fRAT| IHHT 3R HEl 3ca] & 150 31f0e a1 &
TS TEIT AT HIfAT

(a) 190 (b) 250

(c) 280 (d) 350

42. fohehe 1 dig glehT diel &I Jolell A Foohl 3R dlcildicr Pedic I dofell H Goohl
BT &1 Bleh 1 dig Pedlel T Jolell # goohl glcl & olfchel f® T 3ig & oy gieh
gl Pefafaa & & Fla gea 9y g2

(a) glehY el (b) Trehe aTer

(c) atelr ST (d) Be el

43. Change the given sentence into passive voice: Who killed the snake?
(@) Who was killed by the snake? (b) By whom was the snake killed?
(¢) The snake was being killed. (d) By whom is the snake killed?

44, TG & @rdieh A # W sieey, UK, &dT, &dl & gahlel

(a) &aT I geTe, &al, UK, sfaeX (b) WK, STeFeX, &aT T gehled, cal
(c) STeFex, &ar T gepled, &aTl, JER (d) T, STeFeX, &ar T geplel, TR
45. Most appropriate synonym of word “Tenacity”

(@) Ingratitude (b) Decimation
(c) Splendour (d) Perseverance
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38. The currency, which is neither issued by Mint nor by Central Bank, but accepted in the
trading as virtual currency is called
(a) Bytecoin (b) Bitcoin

(c) e-Coin (dy Cryptocoin

39. If Purple is called Blue, Blue is called Green, Green is called White, White is called Orange,
then what is the colour of salt as per above coding?

(@) White (b) Green

(c) Orange (d) Blue

40.1f 2 12 15 1 20 stands for ‘BLOAT’, what does 20 23 9 19 20 stands for?
@) TWILT (b) TWINE
(©) TWINT (d) TWIST

41. In an examination, a student was asked to find 3/14 of a certain number. By mistake, he
found 3/4 of that number. His answer was 150 more than the correct answer. Find the given

number.
(@190 (b) 250
(c) 280 (d) 350

42. The cricket ball is lighter than the hockey ball and volleyball is lighter than the football.
Hockey ball is lighter than the football but heavier than the tennis ball. Which of the
following is the heaviest?

(@) Hockey ball (b) Cricket ball

(c) Volley ball (d) Foot ball

43. Change the given sentence into passive voice: Who killed the snake?
(@) Who was killed by the snake? (b) By whom was the snake killed?
(¢) The snake was being killed. (dy By whom is the snake killed?

44. Arrange the following in a meaningful sequential order: Doctor, Fever, Medicine, Medical
shop

(@) Medical shop, Medicine, Fever, Doctor
(b) Fever, Doctor, Medical shop, Medicine
(c) Doctor, Medical shop, medicine, fever

(dy Medicine, Doctor, Medical shop, Fever
45. Most appropriate synonym of word “Tenacity”

(@) ingratitude (b) decimation
(c) splendour (d) perseverance
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46. IS ¢oT T A 3R B & = 60 fhalT Fr g 45 Aste & a7 L g1 IfT
SHeRT AT 5 fohedl / beT A HT ST &, ST gl T T e A RIS A fohcen
AT eT3Na?

(a) 80 (b) 42

() 48 (d) 50

47. U ARG TR &l 3: 50 6 & 3T # P, QAR REH i fIsfold e g1 e
R &I Q¥ 400 %. 31f8% fAed g, df P3R Q3% fgeal A fohdelr fer &1 37ax greme
(a) 1200%. (b) 800 &.

(c) 1600 . (d) 3er 3uaTed g

48. FH H TR Golter T F 2/3 § 3R Gelter o TR Goell 7 @ 3/5 §| Goodl
arE 400 . g1 a6 Hh & 9 fovcrelr TR 82

(a) 266.67 . (b) 16 .

(c) 2000 ¥. (d) 160 .

49. AR B A T JOAR 240 &1 A BHT QT AP, AHI 3T F 4 a¥ @
3w & ar AT 3mg Rrael &2

(a) 13 @y (b) 12 a¥

(c) 14 a¥ (d) 15 a¥

50. fF® & T K& F 4000 AFHT F T 190 AT & oot F1 Tefe a1l 30T &
a1e, 800 Hfeieh SR & Tl 1T| AW Afetohl & fAT Far 3T St kel el e
TeId?

(a) 225 & (b) 200 feaT

(c) 175 feaT (d) 250 feaT
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46.

47.

48.

49.

50.

A train covers a distance of 60 km between station A & B in 45 minutes. If its speed is

reduced by 5 km/hr, how much time in minutes will it take to cover the same distance?

A certain amount of money has to be divided amongst P, Q and R in the ratio 3:5:6. If R

receives Rs.400 more than Q, then by how much money would Pand Q differ in their

shares?
(a) Rs.1200 (b) Rs. 800
(c) Rs.1600 (d) Datainadequate

Mukesh has 2/3™ of the money that Sunil has and Sunil has 3/5" of the money that Panna

has. Panna has Rs. 400 with him. Then how much money does Mukesh have?

(a) Rs. 266.67 (b) Rs. 16
(c) Rs.2000 (d) Rs.160

The product of the ages of A and B is 240. If twice the age of B more than A’s age by 4 years,
what is A’s age?

(@) 13 years (b) 12 years
(¢) 14 years (d) 15 years

In a barrack of soldiers there was stock of food for 190 days for 4000 soldiers. After 30 days,
800 soldiers left the barrack. For how many days shall the leftover food last for the remaining
soldiers?

(@) 225 days (b) 200 days
() 175 days (d) 250 days
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